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Motivation

e various studies done in tracking by analyzing
Pp T
»p KT K™

® |pl mismatch by PID, usage of to, ATOF etc.

 step back and analyze individual tracks using
particle gun




Particle Gun Events

* 20k events generated each in bins of Ipl, O

e o<lplcio GeV/c, 0.5 GeV/c bins

* 0°< 0<90", 5" bins
* it* events only

* oct mean, standard

deviation for each

bin

18000

16000

14000

12000

10000

8000

6000

4000

2000

olLLl] ‘II I‘I II‘ [ 11 ‘II I‘I II‘ [T ‘II I‘I II‘ L]

[ | [ [ [ [ | [ [ [ [
number of tracks

3.0<Ipl<3.5

40 <0< 45
entries: 20000

[T 1 ‘II I‘II I‘I II‘ |||‘ | 1] ‘II I‘II I‘I II‘ [T]




e mean number of tracks by bin
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Number of Tracks

standard deviation of tracks by bin
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Ap = Pgen ~ Precon (1/ 3)
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mean

Ap = Pgen ~ Precon (2/ 3)
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Ap = Pgen ~ Precon (3/ 3)
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v2 vs ndof for each track (1/6)
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v2 vs ndof for each track (2/6)
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P

2 vs ndof for each track (3/6)
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y2 vs ndof for each track (4/6)
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2 vs ndof for each track (5/6)
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2 vs ndof for each track (6/6)
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prob for each tr:

L

prob

8000

7000

[.0<|p|<1.5
0<6< 5
entries: 40362

6000

5000

FTT”III lll [ |lll I‘I

4000

3000

2000

1000




prob for each tra
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prob for each tra
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prOb for each track (4/4\/
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acceptance for each bin

(CL>0.10)
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